BOAT AND STREAM
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YEAR: 2003

A man rows 750 m in 675
seconds against the stream

: 1 ;
and return in 7— minutes.

Find his rowing speed in still
water?

uF A uW F wfdEe 750 w675
FEve § 9 € AR ?é firfe o =m0y
% 1 e e e e
(a) 3 kmph (b) 4 kmph

(c) 5 kmph (d) 6 kmph

A boat goes 6 km an hour in still
water, it takes thrice as much
time in going the same distance
agaimst the current comparison
to direction of current. The speed
of the current (in km/hour) is:
UF 919 Vid 5@ | 192 § 6 fFd. =t
o 79 FA 1 9 U F Wi St
& 5t F e = sran A T W
g9 wd &, 9 9w F = e sl
@4 (B)5 ()3 (d)2

5,

distance upstream as to row
the same distance down-
then the speed of
stream (in km/hr) 1s:

stream,

mmﬁ@mﬁaﬁmélékm/
h 21 afg =8 faad w9 | a1 fen
T w9 g0 7 F ) S & g A A
wierel feen ® < wwa § @9 @ €,
g FwoEe (e /=2 #) s =4
@1 (b)1.5 (2 (425

boat to that of the curr "“\q;jf‘“‘
water is 36 : 5. The boat” gpés
along with the cd rent an S
hours 10 minutes }1 come
back in : QJ
TF HEE Wi{[f[ I A 1 9
36 - s%am’éﬁz&maﬁmﬁsﬁ
10 fq':[g 5, T L, @ oaE e
T GTITW?
]ShrSOmJ_tl[b]ﬁhr

= {,{q] % hir 50 min (d)12 hr 10min

YEAR : 2004 ';.{_’\.. ~

.I"v.

8 hours and 36 km dovg,tfstream
in 6 hours. The speeci:ﬁf the boat

in still water 1s
WwSaﬁnd@%ﬁ %ma%uﬁﬁ"a
ﬁsnﬁaﬁ%aaﬁ&@azﬂaﬁﬁﬁﬁr
Fmaﬁﬁ'm?\qﬁ% i <t § =
F = = B

(a) 6.5 km/hour (b) 5.5km/hour
(c) 6 km/hour (d) 5 km/hour

YEAR : 2007

1
A man can row at a speed of 4 i

km/hr in still water. If he
takes 2 times as long to row a

11a4|

YEAR : 2008

A man goes downstream with
a boat to some destination and
returns upstream to his original
place in 5 hours. If the speed
of the boat in still water and the
stream are 10 km/hr and 4
km/hr respectively, the distance
of the destination from the
starting place is:

T =Afg 99 9 u w5 e A feer
E2IE I Ea O A L S F L O I D
feem & orr o oM w5 =2 F AT
S @1 AR v e ¥ A w oA
o ¥/ F A FAG: 10 fEALET
e 4 fwsAa € o yEad fog
I A F R Fm R

ja) 16 km (b) 18 km

[c) 21 km (d) 25 km
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The ratio of speed of a metors 3,_;‘

Two boats A and B start towards
each other from two places, 108
km apart. Speed of the boat A
and B in still water are 12 km/
hr and 15 kmﬁﬁ‘ respectively.
IfA proceedséﬁfoﬁm and B up the
stream, tﬁejy will meet after.

A= A ?p:u BT sem-sem srRl 9

TR A T A

anaww Bﬁmm 12 fF.ot.

“'/gaaen 15 it s 21 afy A o b

e § o wmdt 9w B uw #
yftere feen ® am wgdt @, @ 9 fra

& 9% Her?
(a) 4.5 hours (b) 4 hours
(€) 5.4 hours (d) 6 hours

Speed of motorboat in still water
is 45 kmph. If the motorboat
travels 80 km along the stream
inn 1 hour 20 minutes, then the
time taken by it to cover the
same distance against the
stream will be:

id S H U WedEe & o= 45
H/He #1 AR WeER uw F e o
80 fmdl. gt 1 He1 20 fire # a4 &l
2, dt = ot € gft um @ i fawm
¥ foradt 3 | @ Hif

(@) 3 hrs

(b] 1 hrs, 20 min

(c) 2 hrs, 40 min

(d] 2 hrs, 55 min

YEAR: 2009

A boat rows downstream covers a
distance of 20 km in 2 hrs while
it covers the same distance
upstream in 5 hrs. Then speed
of the boat in still water is :

TF 7E 9 & fRgn H 26 7 20
. 7 &7 F@1 & waEtw e @ g e
4 & Wfasge fRwn o 562 ¥ 0 H
#, 0 vid e § /@ hI el 9 w2
(@) 7 ki /hr

(b] 8 kmm/hr

(c) 9 kmm/hr

(d) 10 km/hr
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YEAR: 2010

10. A boat covers 24 km upstream
and 36 km downstream in 6
hours, while it covers 36 km
upstream and 24 km down-

. 1
stream 1in 65 hours. The

speed of the current is:

TF 949 6 7 # uw & gfasa 24
. g au = wt feen o 36 fEA. g

1
T T § wEE g 65 e H um W

yfterel 36 fw. . qer |ra = fGon o 24
. 5t T w8, @ g’ e T\
Exly
(@) 1 km/hr (b) 2 kmn/hr
() 1.5 km/hr (d) 2.5 km/hr
11. The speed of a boat in still water
is 10 km/hr. It
(upstream) a distance of 45 km
in 6 hours. The speed (in km/
hr) of the stream 1s :
WIid STl § U T = 10 R ufg
2 %, 78 W % Wit 45 frd g 6
42§ 94 el ¢, d ¥ A (L
/g ) [m Fw0
(a) 2.5 km/h (b) 3 km/h
(c) 3.5 km/h (d) 4 km/h
12. A boat goes 12 km downstream
and comes back to the starting
point in 3 hours. If the speed
of the current 1s 3 km/hr, then
the speed (in km/hr) of the boat
in still water is :
UF 9 4r & fgen F 12 fd
FE © a4 A9 g W3 W HA
o7 ST #1 A S w= =
2, wid s # A= aﬁ am Fi?

() 12 km/h
(c) 8 km/h ‘ﬁ’km/h
Yﬁi\R 2,911
13. A boat tra{;els 24 km upstream
in 6 hours and 20 km down-

Then the
speed of boat in still water and

covers

%

stream in 4 hours.

the speed of current are respec-
tively.

TF 916 49 % fawa 24 fEAL 3f 6
=52 # 79 s € SN g e | 20
feft. gft 4 =2 § a7 Fwar &, @ oia 5@
H A9 F A ag1 4 F A {6 w7
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(a) 4 kmph and 3 kmph
(b) 4.5 kmph and 0.5 kmph
(c) 4 kmph and 2 kmph
([d) 5 kmph and 2 kmph
14. The speed of the current is 5
km/hour. A motorboat goes 10
km upstream and back again to
the starting point in 50 minutes.
The speed (in km/hour) of the
motorboat in still water is:
qT F T 5 TEAL/EE B U AeEe
9N % wfiehet 10 Rl <6 o7 e &
7en 50 fime # e o o 9 o e
%, il via o1 Hewe F ww (fm
H) A H?
(@) 20 (b) 26 (c) 25 (d) 28
15. A man swims downstream
distance of 15 km in 1 hour. If
the speed of the current is 5
km/hr, the time taken by the
man to swim the same distance
upstream is:

T =i am o fen 15 fra. @fﬁ
1 52 ¥ e 71 AR 9m A fg;wé
S

/e 2, @ u F e
@ gt o § 3@ fRaa ke F[?Eiw
(a) 1 hr 30 min(b) 45 mirt)
(c) 2 hr 30 min(d) zayf”si
A man can ﬁ ‘80 km down-
stream and. remfgn in a total of
8 hours.{‘lft.];}e speed of the boat
water 1s four times the
speed ﬁ%the current, then the
?T)eﬁvf)f the cumrent is:

(vt 8 52w # e 4 30 .

16.

N LAl =f 71w e W 2 AR i

Al § AE FH A U F A B AN
T %, @ aw F oA W e

(a) 1 km/hr (b) 2 km/hr

c) 4 km/hr (d) 3 km/hr

1
A person can row 75 km an

hour in still water and he finds
that it takes him twice as long
to row up as to row down the river.
The speed of the stream is:

e i e 7 o g 1
% 7 e | 98 9 € R R % i
a9 H, 9 H e # S i qer | &
T G T €, T OR FY A I 2
(a) 2 km/hr (b)) 3 km/hr

i) 2% fernie 1) 3% e flar
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18. A man can row 6 km/hr in still
water. If the speed of the
current 18 2 km/hr, he takes
4 hours more in upstream
than in the downstream.The
distance 1is:

wid 5w ® U =fEm w1 = 6 R A
21 afE ur W 9/ 2 fRHELHS ®, @ um
= faen o %z | A o f v o
2, 399 4 W afuE gHT |l F i

T & st €1 2t o e A o E A gl
1 7

(@) 30 km (b) 24 km

(c) 20 km 32 km

19. Speed of a boat’
in still wa €r ar the speed of
the str km per hour.
If the boai,gtakes 3 hours to go

to @ ‘plage and come back, the
dis e of the place 1s :

mﬁmﬁmsﬁtﬁm%‘
\ﬂ%l%mﬁmsﬁﬁma%iaﬁm
3" ¥ e gt 9% FeRt Sew e
S R, A gl T w2

3.5 km per hour

s.\-w\

(a) 3.75 km  (b) 4 km
(c) 4.8 km (d) 4.25 km
YEAR: 2012

20. A boat covers 12 km upstream

and 18 km downstream in 3
hours, while it covers 36 km
upstream and 24 km

downstream in 6~ hours. What

is the speed of the current ?
T#AE 3 He H 12 fwf gt v &
giteret den 18 fw.s. it v =+t fgam
e Y sy
¥ 79 Fl &, TeiE T 6~ # T 36

fert. it wm = ufase qen 24 fwoot
gty #f faen & 7@ Ft T, a@ uw

*I e | w2
(@ 1.5 km/hr (b) 1 km/hr
(c) 2 km/hr (d) 2.5 km/hr

21. The speed of a stream 1s 3 km/

hr. and the speed of a man in still
water 18 5 km/hr. The time
taken by the man to swim 26 km
downstream is:

4T 1 e 3 fe i /Ee £ it wiid se
H ug =fw # A 5 e f &
g i f&wn o 26 fR. 30 9% e
5§ qar?

|’11as
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22.

23.

24.

25.
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2 1
(a) 8— hrs (b) 3— hrs
3 4

1
(c) 13 hrs (d) S= hrs
o]

The speed of a boat along the
stream 1s 12 km/hr and
against the stream 1s 8 km/

hr. The time taken by the boat

to sail 24 km in still water is:
o i fagn | w5 = 12 R s
? 4R 4 @ wiiwme | B W 8 f
.52 %’,Hﬁﬂlﬁﬁﬁﬁ24ﬁ.ﬁ.§ﬂm
F H 99 H Fan g wm?

(a) 2 hrs (b) 3 hrs
(c) 2.4 hrs (d) 1.2 hrs
YEAR: 2013

Speed of a boat along and
against the current are 12 km/hr
and 8 lkkm/hr respectively. Then
the speed of the current in km/
hr is:

a1 fRen o Aon v % wliwe o
19 F1 9 w99 12 fEdEe am 8
fedf e 2 @ am # = a w
(fereft.rsie 9)7

@5 (B4 (€3 (d2

A man can swim 3 km/hr in still
water. If the velocity of the
stream is 2 km/hr, the time
taken by him to swim to a place
10 km upstream and back is :
14 5 ° OF = 3 oA =1 =
Y T gHal 71 AR um F = 2 TR
/Ha &, @ u # giage 10 feR S
 qu 99 FH W 39 foha 999 ~
j

(a) 95 hr (b) 10 h‘?

P

(c) 12 hr [d S&Whr
A swimmer s S\‘f;ﬁ)m a point

A against a\; frrent for 5
minutes qnd’} then swims
backwardg+ili favour of the
current for next 5 minutes and
comes to the point B. If AB is
100 metres, the speed of the
current (in km per hour) is :

o s, Afag @ %mrﬁ’;rﬁ% 5 fige
A% aLdl @ SN W & R § el 5
fime & B fiig W amw 31 s 21 af
AB % = i g 1004 &, @t wmw #
= (fr. == ®) 3| &% 7

.J
N

(a) 0.4 (b) 0.2
() 1 (d) 0.6
1186 |

26.

27.

28.

A person can row a distance of
one km upstream in ten minutes
and downstream in four minutes.
What is the speed of the stream?
T =i a9 % wiee 1AL 56 10
e & @ & € qun @ o e §
o 8 g 4 e F 9w €, @ aw
= T F

(a) 4.5 km/hr (b) 4 km/hr

(c) 9 km/hr (d) 5.6 kimn/hr

A boat moves downstream at

. 1 .
the rate of 1 km in 75 mintites

and upstream at the rate of 5

km an hour. What 1s the speed
of the boat in the still water?

TF 7% fore § 1 km =t =@ 9

fa=e ware | Wil & @i 1 s H 5 km
F T W I TaE | e ¥ fon wer
¥ JrE # e A e

30.

%_.\:__w.{a] ,I:Z; Jkm/h
©(c)19.5 km/h (d)19 km/h

A3

2"; WJ

(a) 8 km/hour [b]6 krn_/ 'u(w’

Y

{c) 4 km/hour [d]/@) km?flom

A boat tal? ha\lf tlme n
moving i:i;un distance
downstr g\}jt‘han upstream.
The ratio the speed of the
boﬁi‘wﬁ; till water and that of

t}m\c‘lﬁ‘rent is :

T A B ED 3w @ wfee S

T{’}ﬁwﬁﬁﬁaﬂ?aﬁﬁaﬂmm

.J’

29,

e %1 feer wor § A i ooin s oo
T St A H IEE FA1 B2
(a)2:1 (b)4:3

c)1:2 (d)3:1

A man rows 12 km in 5 hours
against the stream and the
speed of current being 4 kmph.
What time will be taken by hum
to row 15 km with the stream?
s Afgd am & gfaga a9 | 12
fe.Hl. #1 g0 552 & @@ w2,
faed ara %1 =@ 4 fwH. gfq e
21 @2 auAre § A @ 15 fefh
Ft 38 fFad @ ® 93 =2m?

7
(a) 1 hour 27 5 minutes

7
(b) 1 hour 24 & minutes

32.

33.
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7
(c¢) 1 hour 25 = minutes

7
(d) 1 hour 26 = minutes

A motor boat covers a certain
distance downstream in a river in
3 hours. It covers the same
distance upstream in 3 and half
an hour . If the speed of the water
1s 1.5 km/h, then the speed of the
boat 1n still water 1s:

UF Hierd2 7t § AT Ee vEE § &9 g
3 a%ﬁaam?h‘%;f‘rwﬁl%mﬁ

EnciliRcil B g w §
T F s e E o feR
SegEE HhAle F e @ E?

(b) 17.5 km/h

he speed of a boat
downstream is 15 km/hr and
the speed of current 18 3 km/
hr. Find the total time taken
by the boat to cover 15 km
15 km

upstream  and

downstream.

fordt @ =t W@ 4W F 3T 15
fadtafesier & ot aw #1 =@ 3
fedftufreier 1w % fagda 15 feet
it um % e 15 fEd @1 g @
FH T 93 ® Fo e T wm?

(a] 2 hours 40
(b) 2 hours 42
(c) 3 hours 10
(d) 2 hours 30

A boat goes 75 km upstream in
3 hours and 60 km downs-

minutes
minutes
minutes

minutes

tream in 1.5 hours Then the
speed of the boat in still water 1s:

uw e uH § awr % faufa e g 3
e § 75 fE. 3R 4 % oEe 1.5
w2 H 60 el st €1 wid we ® A
FI =@ T E?

(a) 32.5 kmph (b) 30 kmph

(c) 65 kmph  (d) 60 kmph
The water in a river is flowing
at the rate of 4 km/hr. If the
width and depth of the river is
8m and 4m respectively, then
how much water will enter the
sea in 15 minutes?
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wF = H U 4 fed e wter g 98 37. On a river, Q is the mid-point

w® 2 Ak A w Al e e
FUN: 8 HieX iR 4 Hex & @ 15 fire
H fpaT ot W | wEw wam?
(a) 60000 m* (b) 18000 m?
(c)28800 m® (d) 32000 m?

between two points P and R on
the same bank of the river.A
boat can go from P to Q and back
in 12 hours, and from P to R in
16 hours 40 min . How long
would it take to go from Rto P ?

40.

If a boat goes a certain dis-
tance at 30 kin/h and comes
back the same distance at 20
km/hr, what is the average
speed (in km/hr) for the total
journey?

7fs uF = 30 fEAvER = fa 9

34. A man rows to a place 35 km fedt 7t o 9w U B R m T ﬁf?ﬂﬁiﬁﬁﬁﬁﬁ%aﬁ?'{ﬁ@ﬁm
in distanccland back in 10 ﬁﬁaﬁpaﬂqR%ﬁaqmﬁ%Q% R/ &1 T § S99 79w E, A
hours 30 mintues. He.found FETEHPH Q a% H H 2w afam 12 FA A F o siraa i (Fefsz 5)
tltlat he.cailhI"OWSklzil“'lth tl};e 903§ g £ SR P AR 7% 16 1
Streamn T Tie same ne as ne 02 40 firfe 4 31 Wkl 81 7R 39 R (a) 25 (b) 24.5
can row 4 km against the 3P o 3 kit
stream. Find the rate of flow of & s ’ (c) 24 (d 25.5
the strebmd 3 3 41. A l:logtg goe ﬁ;m upstrearx51

. : 3 3 by s 232 an stream 1n
Eaﬁﬁﬂﬁﬂ%ﬁﬂﬁgﬂim () Al 7 hours. Iﬁf;% W g m————

L5 | 10 =2 30 fme o €1 =%
TE T s o AT w4 # 9y (b) 5;1?’./52[0% an;sk 55\\\1{1551 downstream in g
5 frdl @1 w@ € 3a @ w9 ° ae 2 5 r“b\ hat is the speed (in km
o % fawg 4 fEdl @ = 21 uw (c) ﬁgkr‘.‘/ 6— T h_ﬁihof stream?
1 ¥E T A H . b uzé‘qlasaéﬁ]sﬁnﬁ‘%ma:m
(a)1 km/hr, fivsia 1 i g\g’% dut 22 faredt o & s S ) iR
T T—hr.; 7— g Oy
(b)0.75 km/hr, f&fma ) fgel g W i’;}” 78 % W2 20 forddt um % wfima
_ O

(c) 1.33 km/hr, f@e/=a 38. A boat goes 15 km, U‘PS\; am
d) 1.5 km/hr, ffis 1 ) du - R a8
(] / i i and 105 km down‘gi,rhga‘in in 3 2

35. If the speed of a boat in still “~\ ur # Tt (FRI g ser #) # 82
water is 20 km/hr and the hours 15 s. It goes 12 (a) 3 (b) 5
speed of the current 1s 5 km/ km upstyeam aﬁd 14 km down- (c) 8 (d) 11
. R T stream ours. What is the

sERER e X ] b sp él;st 1e boat in still water? 42. A boat goes 2 km upstream and
boat to travel 100 km with the s % shopsomre Rovereds v ki dowhsitesin i 20 fnidi.
current is : \Nd utes. It goes 7 km upstream and
Tz feer 9 T A F1 =919 20 T F@gﬁ%mlo . o & argEa 2 km downstream in 53 min-
e & 2 g #1 9e 5 ""x\’ utes. what is speed (in km/h)

P il B B o e | [wer J il St %Ia$ 3 ';;éﬁ}ﬁ%;pz'[ ;’Fﬁ me?ﬂ_ of the boat in still water?
%ﬁﬁmmwﬁ‘-ﬁaﬁj{&ﬁﬁ@m %lf;maa];qﬁa'ﬁﬁwi%‘; wF W@ 20 fme W 2 fEdl um @
Y TI? i 5 & ‘ gfqenet den 3 fRl. a0 & e S
(a) 2 hr/= /@}&hr/‘iﬁ E:]] - :d: - HE 53 ﬁ%"—l’éﬁ?\ﬁﬁﬁ’l T H}am
() 4 hr/az \}d]”/ he /52 o q«n 2"%.1?1 HM % aw St 's‘} f@n
\X 39. If a boat goes a certain distance o H A F o (Feah wf s )

36. A man _ r&w upstteam at at 30 km/hr and comes back Fr &7
12 km/h:i: and dowstream at the same distance at 60 km/ 7517 bl 120/7
18 km/hr. The man's rowing hr. What is the average speed (@) / (b) /
speed in still water is : (in km/hr) for the total journey? () 135/7 (d) 150/7
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TH et aw # ufawa frwm A 12
foett. /e @R e faon # 18 T,
/A Y = A A e % 2|
vid S § A A @ e

(a) 15 km./hr (b)5 km./hr
() 3 km./hr () 10km./hr

PR UF 19 30 fRAy v F fe 9
fafem g0 7@ w4 € @R 6o fadi/Ta
*I A E S gl W A s g wet
aE & feu digd ufd (Redisen) o
I E?
(a) 45

(c) 40

(b) 50
(d) 35

43.
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A boat can row 35 km, upstream
in 7 hours and the same dis-
tance downstream in 5 hours.
What is the speed (in km/hi) of
the boat in still water?

wF = TE F A g w35 e
A 7 HEH T FE E ST F oA
g S @ g 5 H A @ w8 fer

|"11a7
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S@ | w9 &t v (e ) @ 87

the average speed (mn km/hr) for

| 55 faFe # 5 fF Al # siEa
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(a)5 (b) 7 the total journey? e 3 Rl o0 & ufasme S 21 fer
(c) 9 (d)6 T e = 48 frd s R g s # = % fa (B ) 22
44 If a boat goes upstream at a speed TUT FY S S 2l g0 fedt. ufy 02 (a) 6.5 (b) 7.75
A e qm iUt o @9 s
'« th d ) I % fau 3u#! oieq wfa (fFHdiga 47. Two boat are travelling with
1s the average speed (in km/hr)
for the total journey? F) =t T FH speed of 36 km/hr and 54 km/
3T UF 9 21 FRAweT ut 92 w1 (a) 64 (b) 62 hr respectively towards each
wfr | g & faufig et £ oadn ox (c) 66 (d) 60 other. What is the distance (in
fradir ufr R I A A IW A TF 46, A boat e | — metres) between the two boats
A9H I E, o e 9T T A T 4 Yrrakemntireasn i 1 o The one second before they collide?
(Tremey/=iar) = 72 same boat goes 5 km downstream T A TR T H AF w36 fRA
” and 3 km upstream in 55 wfg =21 a0 54 T H o ufa = E}ﬂ g o
(a)24.5 (b) 24 ;
(c) 25 (d)25.4 micuics, Whetds theepen o o T e
t1 1 ter?
45. A jetski goes upstream at a speed {ae e 'a R S _ = 3
of 48 km/hr and comes back the TF TE 152 7 4 fRHl. om0 % e (a) 10»«\»«8‘
same distance at 80 km/hr. Find e 4 Rl o = e S 21 = [c]
)‘“’
O
/\J
q ANSWER. K&‘éﬁ?
I‘f. *‘“’f
1. (o) 7. ® 13. (b) 19. (c) 25 4?*-} 31 @) 37 @] 43. @ 46. (o)
2. (o) 8. (o 14. (c) 20. (c) 26 “raj 32 (a) 38. (c) | 44 ﬂ;} 47. (o)
3. M 9. (@ 15. (d) 21. (b) . 33. (d) 39. (o) | 45. @)
4. M 10. (b) 16. (b) 22. (c] 28 (d) 34. () 40. (o)
5. (o) 11. (a) 17. (o) 23, (gff{t} 6. (@ 35. (g 41. ()
6. (o) 12. () 18. (d) 24__(ch 3t 30. (@ 36. () 42. (o)
3
)
O
'S
L N
A
L)
e
"(:.‘; o’
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